SH6E12A1H X% Bh
BR#H RER BRE BOEAN-U57
LEEE ER—=
ADER
J—-Ab—b FE=F71. 9 llF=>A%E72. 0 AEE>FA72. 3
B ] K % ouT IN [TOTAL] HC | NET | W% | &m
BB AKk#= 35 41 76 69 R R
2 | M3k 42 43 85 12 73 |z-=viu| HEE
3 {if -1:: S 42 42 84 11 73 S
afi| #mHE | 38 | 41 | 79 74 |e-=oro| iR
5 | XH;:&M 40 39 79 5 74 mE R
BB
J—-Ab—b FE=BF71. 9 llF=>HAHE72. 0 AEE>FA72. 3
B ] K % ouT IN [TOTAL] HC | NET | W% | &m
BB | Xk FH3 43 42 85 17 68 WEE
2fi| HHHE- 42 44 86 17 69 BEx
3 fif | ®k& EAEB 46 48 94 23 71 WEE
4 i | HI —t 48 52 100 28 712 |z—=v7tti| FIFE
5 | #sEE(CC 45 43 88 16 72 WEiR
6 {i WF A 44 46 90 17 713 |z—=v7rtn| HIFE
76| BfEE 45 46 91 18 713 |z=v7tm| HEE
8 il | B KE 48 44 92 19 73 BER
9 {if Bl = 42 46 88 14 714 |==vvru| HEBE
10 | s K2 46 44 90 16 74 |z—=v7ru| HFEE
11 6| &8 %5 52 46 98 24 74 WEE
12 fi| RSk 44 47 91 16 715 |=—=orti| HEE
13 fif| #hEF #tb 48 47 95 20 715 |z=v7tt| HIEE
14 fi| 4K EA 46 44 90 15 715 |=—=orui| HEIE
15 | % BeE 52 48 100 25 75 WEE




SHM6E12A1H

55F ~69FNiEB
H 3-AL-bk FAHE=>HF70. 2 llF=>A%E70. 5 AE>FAT70. 5
R J—AL—bk FHE=HF69. 0 BlF=AHE69. 1 AE>KH68. 9

AR mER

X% Bh

s

BOENMNI-9757
LBRR ER —=

| K & ouT IN TOTAL| H'C NET Lk {EFR
EE| 395 Ex 43 45 88 22 66 |==vsiu| HEE
20| ¥ E— 43 41 84 18 66 WEE
3fi| RH XE 44 41 85 16 69 |==vviu| HEE
4 i | =&ML 45 39 84 15 69 [E 3
5| =&k 48 51 99 28 71 |z=rtu| HEE
6 fi &K 57 50 40 90 19 71 WEE
701 | ®HBEA 46 45 91 19 72 WER
8 fi NG B 45 45 90 17 73 |norqttn| HEE
T0FLILE&LTF1ADER
B (£) 3—-AL—b FHE=>BIF67. 9 BIF=>AH68. 1 AE=>KH67. 8
B (k) 3—-AL—b FEHE=>F1F65. 6 BlF=>H#E65. 7 HEE=>FA65. 5
itl.*.. (%) a—AbL—b FHE=>BIF70. 8 llF=>H#70. 4 FEE>FA71.0
{4 (Bk) O—AL—bd FHE=>HIF69. 5 BIF=>HA#68. 7 HiE=>KH[69. 4
4 (88) O—AL—bd FHE=>HIF68. 2 BIF=>HA$H67. 5 HE>FKAGS8. 1
& {1 K & ouT IN TOTAL| H'C NET % {£PR
BB | 5 %0 42 41 83 21 62 WEE
2 i Al BA 45 45 90 25 65 WEE
3fi | ithis 8 39 42 81 15 66 |==vrrw| TR
41 | koA %17 | 45 46 91 25 66 | Emitm | HEE
50i| M@ AE 45 46 91 25 66 [iE 3
6fi| BR-—= 44 42 86 19 67 WEE
70| h# B3k 43 47 90 21 69 [|==sin| WEE
8fi| LmFxk 43 46 89 20 69 [i:E 3




